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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1.

qleeft FAgeH 3T Y T W Ak Sferda: fa |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

it g A A

All the questions are compulsory.

YIh Y9 1 I o T8 IA-YiEaent # g fad |

Write the answer to each question in the given answer-book

only.

58 797 & & 9 sifesh M of o Wi €, 37 9t ol w1 ' 0
1 Haq ford |

For questions having more than one part carrying similar marks,
the answers of those parts are to be written together in
continuity.

3TTT ITR-GFTeht o ISl & i 3R fafEw | afc g % & w7 g,
@ IR-YRasht & 2ifam gl WA R 3R RSt oAl ¥ Hedt 39 W
‘v wE faa

Write on both sides of the pages of your answer-book. If any
rough work is to be done, do it on last pages of the answer-book

and cross with slant lines and write ‘Rough Work’ on them.
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6. U HH% 239 25H AT{h fdhed & |

There are internal choices in Question Nos. 23 and 25.

7. U A 29 7T Afd THIIEER T |
Question Nos. 2 to 7 are Very Short Answer type.

8. U HUH 1% IR AW (i, ii, iii, iv ) § 3R Y% 9m # IR faehey
A, B, C3iR DRy U € | W&l SAUeR SW-Yfaet # =R drferent
EECT -

There are four parts ( i, ii, iii, iv ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter of the
correct alternative in the answer-book at a place by making a
table as mentioned below :

Y Uik WEl 3T ohT HHTAR
Question No. Correct letter of
the Answer
1. (i)
1. (i)
1. (iii)
1. (iv)
1. () 7,500 %93 1 4% Tehdfg =S 1 X T 2 a9 1 faged €
(A) 7,800 T9 (B) 8,100 %W
(C) 8,112%FW (D) 8,082%W |

The compounded amount of Rs. 7,500 for 2 years at the rate of
4% compound interest per annum is

(A) Rs. 7,800 (B) Rs. 8,100

(C) Rs. 8,112 (D) Rs. 8,082. =
i € x3 +a3 ¥ (x+a)® 9m fen I @ Jwwa grm

A x? +a? B) x+a

G a (D) 0.

If x3 +a? is divided by ( x + a ) then the remainder is

A x2 +a? B) x+a

C) a (D) oO. =
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(i) Th TSH i g At TU1 AT *1 3 I Tk fage & | afg @ =1
A 3 x ¥ §, A 12 I¥ UTEIq AASH i A g

X x+ 12
@& 3 +12 (B) .
C) x+4 (D) % _12.

A boy is now one third as old as his mother. What will be the age
of the boy after 12 years if mother’s present age is x ?

X X+ 12
@ F +12 (B) .
C) x+4 (D) % ~12. %

(iv) dfa Hemsti o1 W 187 | Afg Uw T g & At €, @ WA 16 7
ST § | 82 T e §
A) 10 (B) 18
C) 26 (D) 16.
The mean of 5 numbers is 18. If one number is excluded, then
mean becomes 16. Excluded number is
A 10 (B) 18

(C) 26 (D) 16. %

2. T foeneff &1 wR 1499 &Y g Wk s W 36 fRUT o | 15 9 = Y & Hd
T I Sgh 45 fRu &1 T | 159 99 &t gig X F@ FwiNQ |

The weight of a student at the end of 14 years of his age was 36 kg.

It increased to 45 kg at the end of 15 years of his age. Find the rate

of growth in 15th year. %

3. 8x3 y- 343y & UHETE HIWT |

Factorise 8x 3 y — 343y. L

2

4. TH AIA H URATT 40 W T | IUHT Seq 1 UM 2 : 3T | TId Hi
e qAT <TSTS AT hifeg |

The perimeter of a rectangle is 40 cm. The ratio of its sides is 2 : 3.

Find the length and breadth of the rectangle. %
5. HHH 2x 2 - 8 = 0! BA HIfWY |
Solve the equation 2x?2 — 8 = 0. %
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10.

11.

12.

13.

14.

15.

16.

4
feema wefteRtor 3 Hifse fah ga 2 +46 iR 246 € |

Find the quadratic equation whose roots are 2 + \/g and 2 - \/g %
ST 2, 3, 4, 7, 5, 17! AR M@ HITSY |
Find median of the following distribution :

2, 3, 4, 7, 5, 1. %

T g fafy ¥ 39 &1 97 J1a e |

Find out the square of 39 by the favourite number method. 1
A W ASEd R FHE (x + 1) (x+2)=(x-3)(x -4 ) & TA
HIST |

Solve the equation (x+1)(x+ 2 )=(x-3)(x - 4) by the Sutra
Paravartya Yojayet. 1
T o%] hI TE WIS Ghd § a1 190 TII qehlal SIS TAT 60 T9F i
6 Aifaesh fohedl & @ier S Tehdl § | =S &t UM 50 o BI, A I&] H1 THS
eI J1d HITST |

An article can be purchased on a cash payment or a cash down
payment of Rs. 190 and 6 equal monthly instalments of Rs. 60 each.
If the amount of interest is Rs. 50, find the cash price of the article. 1
a-b-a® +b?3 % PHETE HIVT |

Factorise a-b-a3 +b?3. 1

HHIEH fehTa x=%y—2, y = 1 - xRl A HISTC |

Solve the system of equation x = % y-2, y=1-x. 1

HHIFLT 2x 2 + 3x + 4 = 0k Hall skl Yhid 1A HIST |

Comment on the nature of the roots of the equation

2x2 +3x +4 = 0. 1
1 8, 7, 9, 16, 257k A fo=er A1d &ifQ |

Find the mean deviation of the following distribution :

8 7, 9, 16, 25. 1
g5 a1 fafy & g/ 389376 1 A A1 HIfST |
Find the square root of 389376 by Dwandwa Yoga method. 2

T AR L= FHAM: 4,500 To T 6,000 To T AR FW & | WS
F1 AlHT TERER T & IR o9 F 40% 3ifais fgear & | afe Fa
Y 3,500 TIA T &I, Ol TAh T AT F1d HIfQ |

Narendra and Surendra started a business by investing Rs. 4,500 and
Rs. 6,000 respectively. Narendra being an active partner, gets an
additional 40% of the profit. If the total profit is Rs. 3,500, find the
profit of each. 2
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17.

18.

19.

20.

21.

22.

5

TH 7 5,000 T TR Tk el ©R Gl | 91 99 916, FHEd FS Gsit
TR FHET o 1Y Fad™d | gffad g1 T | afe a9 & A< H 3T A1 hl
SUE 10 : 7 o, T A 1 G 91d HIWT |

Narmada started a fancy store by investing Rs. 5,000. After
7 months, Kaveri joined Narmada in the business by investing a
certain amount. At the end of the year, if the ratio of their profits was
10 : 7, then find the capital of Kaveri. 2

x3 —7x2 + l4x — 8% UHETS HIWT |
Factorise x3 — 7x?2 + 14x - 8. 2
Foehl x2 - 3x +2 A x4 +x3 —6x2 & Ao Fo J1d HifST |

Find the L.C.M. of the expressions x2 —3x + 2and x* +x3 - 6x2.

2
ety fafy ¥ f1=1 gefieto feema =it 7@ ®ifST
xX+y = 4, x=y.
Solve the following system of equations graphically : 2

xX+y =4, x=y.
T Gl F AN 48 T AT SR TUAHA 432 ¥ | GEA A1 HIFT |

The sum of two numbers is 48 and their product is 432. Find the
numbers. 2

frafafaa sifwsl @ a9 2000 HT 3MHR THd g 98 2005 & fau faw @

HEhih JMd HIST

1Pl gfafrm g ( Ui H )
ae ( Termrd ) % 2000 o 2005
A 120 8-00 10-00
B 16 7-00 10-00
C 20 6-00 9-00
D 10 40-00 52-00
E 20 16-00 28-00
F 4 25-00 37-50
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23.

24.

6
Taking 2000 as base year, find the cost of living index for the

year 2005 from the following data : 2
Quantity Per kg price (in Rs. )
Items (inkg) Year 2000 | Year 2005

A 120 8-00 10-00
B 16 7-00 10-00
C 20 6-00 9-00
D 10 40-00 52-00
E 20 16-00 28-00
F 4 25-00 37-50

T FeR 3,400 FIF S AT 1,000 FIY qehlal SASRAT 3R 39 iy o w9
Aftfer foredl § STy & | ol Todeh foh&d o 919 99 AR W 9% T8
RO 19 | =N <A | A T e Ao # fer wlied ®, @ S8 TR
e | oot ufir stferer 3t gt § 2

3T

T Ah Ihgig O W FB AR IR ol §, 99 9 &= 99= aifis
fredl § olferar @ | afe ashgfg =9 &1 ® 10% 71 qen yas fhe a6t ufd
1,331 ¥99 T, f IYR &t ¢ o U Fq HiQ |

A cooler is available on a cash payment of Rs. 3,400 or a cash down
payment of Rs. 1,000 and the remaining amount is to be paid in three
equal yearly instalments. A simple interest at 9% per annum on the
remaining amount is to be paid along with each instalment. If Manish
purchases a cooler under instalment scheme, what amount he pays in
excess of the cost price of the cooler ?

OR

A person borrows some money on compound interest and returns it in
three equal annual instalments. If the rate of compound interest is
10% and the amount of each instalment is Rs. 1,331, then find the
principal amount borrowed. 3

foram gfaera Tshafs =<t & WA 8,000 TUA HT 39 & =TS 1,261 T B

ST, STeifoh SATST dlftich <9 § 2

At what rate of compound interest will the interest on Rs. 8,000 for
3 years be Rs. 1,261, when the interest is payable annually ? 3
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25. T IFGAR A9 B AEHIIE Hictsl § g9 7q fafve fawei # frganr sis
H H 8, e Ry H e W@ ©

o Ho faw= A h 3k B o 3k iy
1. ST 80 76 1
2. Tfurd 88 90 3
3. fifqer fomm 85 86 2
4. LSS IPERERIE] 89 90 2
It T1e Jd R oarzd fF AR B o @ & aifuess arg €
3rerar
T IREERaT s &l Jifedent Jid hifT
T ST 10-25 | 25-40 | 40-55 | 55-70 | 70-85 | 85-100
S 6 20 44 26 3 1

For admission to a professional college, the marks obtained by two
candidates A and B, in different subjects are given below, with the
weightage of each subject is given :

S. No. Subjects Marks of A | Marks of B | Weightage
1. English 80 76 1
2. Mathematics 88 90 3
3. Physics 85 86 2
4. Chemistry 89 90 2
By calculating the weightage mean, state who of A and B is more
suitable. 3
OR
Find the median of the following frequency distribution : 3
Class-interval 10-25 25 -40 40 - 55 55 -70 70-85 | 85-100
Ji 6 20 44 26 3 1
26. T IR s &1 717 faged Jd ST
it 0-10 10-20 20-30 30-40 40-50
AR AT 10 16 40 27 7
Find the mean deviation of the following distribution : 3
Class 0-10 10-20 20-30 30-40 40 -50
Frequency 10 16 40 27 7
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